
http://www.leehite.org/


http://www.leehite.org/
http://leehite.org/ewb_project.htm


http://www.leehite.org/


http://www.leehite.org/


http://www.leehite.org/


http://www.leehite.org/


http://www.leehite.org/


http://www.leehite.org/


 

Engineers Without Borders, Cincinnati, Oh, USA, Lee Hite, Dr. Zan Smith, Ron Gorley, Micro Compound-Lever Press 
Easy BioPress, All Rights Reserved. Updated 4/7/2017. Additional info  www.leehite.org                                               Page 9 of 19 

  
  

 
12.  Connect part H to the existing bolts in legs A & B. Make certain the bolt for part G under the 

notch is installed with the head end showing and not the nut end. Part H can be installed on 
either side depending if the operators are right handed or left handed. (Right hand version 
shown) 

 

 
 

http://www.leehite.org/


 

Engineers Without Borders, Cincinnati, Oh, USA, Lee Hite, Dr. Zan Smith, Ron Gorley, Micro Compound-Lever Press 
Easy BioPress, All Rights Reserved. Updated 4/7/2017. Additional info  www.leehite.org                                               Page 10 of 19 

             
13. Handle E should open to this position. 

 
 
 
 

  
14. Attach part F, F & J using 2½” (65 mm) wood screws or 3” (75 mm) nails 

 
 

http://www.leehite.org/


 

Engineers Without Borders, Cincinnati, Oh, USA, Lee Hite, Dr. Zan Smith, Ron Gorley, Micro Compound-Lever Press 
Easy BioPress, All Rights Reserved. Updated 4/7/2017. Additional info  www.leehite.org                                               Page 11 of 19 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

15.  If you want minimize the weight and wood usage you can eliminate one of the two parts “F” 
and attach F to the top side of Part D as shown above.  This will reduce the opening between 
F and C by 1 ½” 89 mm.  If you need to maintain the 7 ½” opening between F and C, extend 
the length of legs A & B by 1 ½” 89 mm. 

 

              
16.  Adjust the bolt tightness for Part G to allow for adequate handle movement. Completely 

tighten the other four bolts. Part K can be used for extra stability if the press sets in soil or on a 
rocky surface. 

 
17. If available, coat the press with a water resistant finish like paint, polyurethane, used motor oil, 

lard or grease. If the finish is in limited supply it is best to at least coat parts D, F, J and the 
lower part of legs A & B.  
 
When motor oil is used it helps to thin the first coat. Allow time for the wood to absorb the oil 
then apply a second coat using regular strength oil. 

http://www.leehite.org/


 

Engineers Without Borders, Cincinnati, Oh, USA, Lee Hite, Dr. Zan Smith, Ron Gorley, Micro Compound-Lever Press 
Easy BioPress, All Rights Reserved. Updated 4/7/2017. Additional info  www.leehite.org                                               Page 12 of 19 

Micro Compound Lever Press (Notch Version) 
 

     
 
 
 
 

Material Cut-Out Diagram (Notch Version) 

 
 

 

 

 

 
 

 

 

 

http://www.leehite.org/


 

Engineers Without Borders, Cincinnati, Oh, USA, Lee Hite, Dr. Zan Smith, Ron Gorley, Micro Compound-Lever Press 
Easy BioPress, All Rights Reserved. Updated 4/7/2017. Additional info  www.leehite.org                                               Page 13 of 19 

 

PART PCS Length Stock Size Description See drawing for details and for hole locations 

A 2 
20” 

 

 508 mm 

1½” X 3½” 
 

38 mm x 89 mm 
Front Legs 

3/8” holes, 2½” from top and 5¼” from bottom,  
centered on stock. Notch 3½” wide begins 3½” from 
end. 
 

10 mm holes, 65 mm from top and 135 mm from 
bottom, centered on stock. Notch 89 mm wide 
begins  89 mm from end. 

B1 
B2 

1 
1 

28”  
 

711 mm 

1½” X 3½” 
 

38 mm x 89 mm 
Rear Legs 

3/8” hole, 5¼” from bottom, centered on stock, 
and 3/8” hole 2” from top, ¾” from front face. Note 
top holes on opposite edge.  
 

10 mm hole, 135 mm from bottom, centered on stock 
and 10 mm, hole 50 mm from top, 20 mm from front 
face.  Notch 89 mm wide begins  89 mm from end. 

C 1 
28”  

 
711 mm 

1½” X 3½” 
 

38 mm x 89 mm 
Lever Arm 

3/8” holes, 3” from left side and 1 ¾” from right side, 
 ½” from top. Can use hardwood if available. 
 

10 mm holes, 75 mm from left side and 45 mm from 
right side, 13 mm from top. 

D 2 
30” 

 

762 mm 

1½” X 3½” 
 

38 mm x 89 mm 
Beam Sides 

3/8” holes, 1 ¾” from each end, centered on stock 
 

10 mm holes, 44.5 mm from each end, centered on 
stock 

E 1 
29” 

 

736 mm 

1½” X 3½” 
 

38 mm x 89 mm 
Handle 

3/8” holes, 1 ¾” from left, ½” from top and 4” from 
left, ½” from bottom. Tapper  to 1 ½” beginning at 9” 
 

10 mm holes, 45 mm from left, 13 mm from top and 
100 mm from left, 13 mm from bottom. Tapper to 38 
mm beginning at 228 mm. 

F 1 
26 ½” 

 

673 mm 

1½” X 3” 
 

38 mm x 76 mm 
Beam Base Fasten with nails or screws (screws recommended) 

G 2 
8” 

 

203 mm 

1½” X 1½” 
 

38 mm x 38 mm 

Arms 

3/8” holes, 1" from each end centered on stock.  
Position to be against the grain, not with the grain. 
  

10 mm holes, 25 mm from each end centered on 
stock.  

H 2 
3½” 

89 mm 

1½” X 3½” 
 

38 mm x 89 mm 
Spacers 

3/8” hole, ½” from top centered on stock 
 

10 mm hole, 13 mm from top centered on stock 

J 1 
14” 

 

355 mm  

1½” X 3½” 
 

38 mm x 89 mm 
Foot 

Notch begins 1” from each end, 1” deep 
 

Notch begins 25 mm from each end,  25 mm deep 

L 1 
3½” 

 

89 mm 

1½” X 3½” 
 

38 mm x 89 mm 
Spacer 

3/8” hole, ½” from top centered on stock 
 

10 mm hole, 13 mm from top centered on stock 

 
3 

 5½” 
 

140 mm 
3/8” Hex Bolt 

3/8” x 5 ½” Hex or Carriage Bolt/Nut (builders 
choice) 

 1 
 6 ½” 

 

165 mm 

3/8” 
 

10 mm 
Hex Bolt 

3/8” x 6½” Hex or Carriage Bolt/Nut (builders choice) 
Some locations may not have available a 6½” Hex 
Bolt but may have available a 6½” carriage bolt. 

 
2 

 8” 
 

203 mm 

3/8” 
 

10 mm 
Hex Bolt 3/8” x  8” Hex or Carriage Bolt/Nut (builders choice) 

 
20   

3/8” 
 

10mm 
Washer 

Use four washers for each movable joint 
 (inside and outside) 

 
10 

 2 ½" 
63.5 mm 

 #10 Fasteners Wood screws 2½" long 

 

http://www.leehite.org/


 

Engineers Without Borders, Cincinnati, Oh, USA, Lee Hite, Dr. Zan Smith, Ron Gorley, Micro Compound-Lever Press 
Easy BioPress, All Rights Reserved. Updated 4/7/2017. Additional info  www.leehite.org                                               Page 14 of 19 

Hole Locations (Notch Version) 

 

http://www.leehite.org/


http://www.leehite.org/


http://www.leehite.org/


http://www.leehite.org/


http://www.leehite.org/


http://www.leehite.org/



